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HENRE SR R B CRA BN IR RIS | R B TS

% # 1 - Akt Bf # & B & B =
B 13,936, 587
PRIERRR I f R 13,936, 587
PRIERRR I R 13,936, 587
PRIERRR I R 13,531, 000
RETETE 128,900
1 EREHETE 1.00 128,900 128,900
=
AR - BE 236, 300
2 BHINK - BB 1.00 236, 300 236,300
=
RETEHDRE 2, 875, 800
3 BAREMHERTE 3.00 958, 600 2, 875, 800
ERMEORERORE 7,234,200
4 BRREOHECERER EDIEN 3.00 1, 556, 000 4,668, 000
r—2
5 BRREOREHOBE E Bk 3.00 306, 900 920, 700
r—2
6 <YL FEORERDKRET EDIEN 3.00 548, 500 1, 645, 500
r—2
BRI - BE 326, 100
T HRREDNREEH 1.00 326, 100 326, 100
=
RETEHDRE 1,296, 000
8 MEARESE 2.00 408, 700 817, 400




HENRE SR R B CRA BN IR RIS | R B TS

9 MEGERIKIEDHIE 2.00 239, 300 478, 600
F—2
BRFEORELEDRE 613, 800
10 kX RERVESHREOTEROR EAKX 2.00 306, 900 613, 800
=
F—2

R 207, 600

11 |RESER 1.00 207, 600 207, 600
=

& - |E 434, 400

12 %% - |E 4.00 108, 600 434, 400
=]

BE 171,900

13 BE 1.00 177,900 177,900
=

E#EEE 405, 587

EHARE 129, 187

14 £BAME 1.00 129,187 129,187
=

R 240, 000

15 EBHEH 1.00 240, 000 240, 000
=

HEE 36, 400

16 ETEEREE E-AYCIREER 1.00 36, 400 36, 400
=




BIER FIBEEREREBEERFRIEMZRIEM BRI ER

% g - AKSTiE Bifr B 2 B i & 8 W =
BRI 13,531,000 + 405, 587 13,936, 587
BEEAGE 13,531,000
BE#ERE 405, 587
Z Otk S f 13,531,000 x 53.85% ( 35% + (1 — 35%) ) 7,286, 443
BRI 13,936,587 + 7,286, 443 21,223,030
—REEES 21,223,030 x 53.85% (35% + (1 — 35%) ) — 1,631 11,426,970
KBS 21,223,030 + 11,426,970 32, 650, 000
HETR SR L 32,650,000 x 10.00% 3, 265, 000
EBERN 32,650,000 + 3,265, 000 35,915,000
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&5 :1
B ERETETE 14y
2 b g - BIRTE By H = B ® W = " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 0.50 40, 600. 00 20, 300
& Hi 1E%HeH - 1.00K 128, 900. 00 128, 900
5:2
ZFF . BRINE - BH 14y
2 b g - BIRTE By H = B ® W = " =
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.50 40, 600. 00 101, 500
g
A 2.00 29, 000. 00 58, 000
& B 1E%HeH - 1.00K 236, 300. 00 236, 300
&5 :3
ZF5 . BREHERE 1HhmZ Y
2 b g - BIRTE By o = B ® 5 W = " =
FEHRAR (F%ET)
A 4.50 57, 400. 00 258, 300
AR (A)
A 6. 00 51, 200. 00 307, 200
HEm (B)
A 3.50 40, 600. 00 142,100
AR (C)
A 5.00 32, 800. 00 164, 000
g
A 3.00 29, 000. 00 87,000
& B 1EZRED - 1. 0045 958, 600. 00 958, 600




Rifiz -/ \v7r—o

FOSFEE e R BB (AN )b IR IR M I S M R ET R 75

Hz5:4
W BRREOHMELEHENT FEHKX 1r—24Y
2 b g - BIRTE L= vd = B ® # " =
FEHRAR (F%ET)
A 3.50 57, 400. 00 200, 900
AR (A)
A 6. 00 51, 200. 00 307, 200
HEm (B)
A 12.00 40, 600. 00 487, 200
AR (C)
A 14.00 32, 800. 00 459, 200
g
A 3.50 29, 000. 00 101, 500
& B YEZERED - 1.005—R 1, 556, 000. 00 1, 556, 000
&5 :5
£ BRREOLREHOEE EARX 1r—24Y
2 b g - BIRTE L= vd = B ® # " =
FEHRAR (F%ET)
A 0.50 57, 400. 00 28, 700
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 2.50 40, 600. 00 101, 500
AR (C)
A 2.50 32, 800. 00 82,000
g
A 1.50 29, 000. 00 43, 500
& B YEZEREDN 1,005 —R 306, 900. 00 306, 900
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FOSFEE e R BB (AN )b IR IR M I S M R ET R 75

&S5 :6
& BT FEOREEHO®E EhK 1r—24Y
2 b g - BIRTE L= vd = B ® # " =
FEHRAR (F%ET)
A 2.80 57, 400. 00 160, 720
AR (A)
A 3.70 51, 200. 00 189, 440
HEm (B)
A 2.30 40, 600. 00 93, 380
AR (C)
A 3.20 32, 800. 00 104, 960
& Hi YEZERED - 1.005—R 548, 500. 00 548, 500
&5:7
£ HEEHREDHREEH 14y
2 b g - BIRTE L= vd = B ® # " =
FEHRAR (F%ET)
A 1.50 57, 400. 00 86, 100
AR (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 2.00 40, 600. 00 81,200
AR (C)
A 2.50 32, 800. 00 82,000
& Hi 1E%HeH 1,00 326, 100. 00 326, 100
&5 :8
2% BEAEEETE 1HhmZ Y
2 b g - BIRTE = v = B ® 5 # " =
FEHRAR (F%ET)
A 1.50 57, 400. 00 86, 100
AR (A)
A 2.00 51, 200. 00 102, 400
HEm (B)
A 3.00 40, 600. 00 121, 800
AR (C)
A 3.00 32, 800. 00 98, 400
& Hi 1EZRED - 1. 0045 408, 700. 00 408, 700
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E5:9
& HENERKIEDFIE 1r—24Y
2 b g - BIRTE L= vd = B ® # " =
FEHRAR (F%ET)
A 0.50 57, 400. 00 28, 700
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 2.00 40, 600. 00 81,200
AR (C)
A 1.50 32, 800. 00 49, 200
g
A 1.00 29, 000. 00 29,000
& B YEZERED - 1.005—R 239, 300. 00 239, 300
&5 :10
£ KiEKERVESHKEOREEORE FhA 1r—24Y
2 b g - BIRTE L= vd = B ® # " =
FEHRAR (F%ET)
A 0.50 57, 400. 00 28, 700
AR (A)
A 1.00 51, 200. 00 51,200
HEm (B)
A 2.50 40, 600. 00 101, 500
AR (C)
A 2.50 32, 800. 00 82,000
g
A 1.50 29, 000. 00 43, 500
& B YEZEREDN 1,005 —R 306, 900. 00 306, 900




Rifiz -/ \v7r—o

&5 11
£ MESERK 1LY
2 b g - BIRTE L= vd = B O ® # " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.00 40, 600. 00 40, 600
AR (C)
A 1.00 32, 800. 00 32, 800
& Hi 1E%HeH - 1.00K 207, 600. 00 207, 600
&5 .12
215 HEE - |mE HEED
2 b g - BIRTE L= vd = B O ® # " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.00 51, 200. 00 51,200
& Hi 1YEZHEH - 1.00[E 108, 600. 00 108, 600
&5 .13
2 BE 15ty
2 b g - BIRTE = v = B Ol ® 5 # " =
FEHRAR (F%ET)
A 1.50 57, 400. 00 86, 100
AR (A)
A 1.00 51, 200. 00 51,200
e (B)
A 1.00 40, 600. 00 40, 600
& Hi 1YE%HeH - 1.00K 177, 900. 00 177, 900
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&S 14
&% EHARE 1LY
2 b g - BIRTE BT H = B oO(f ® W = " =
EXRARE
= 1.00 129, 187.00 129, 187
& Hi 1E%HeH - 1.00K 129, 187.00 129, 187
&5 .15
2% EBHRRA 1LY
2 b g - BIRTE BT H = B oO(f ® W = " =
EBHRERERE
= 1.00 240, 000. 00 240, 000
& Hi 1E%HeH - 1.00K 240, 000. 00 240, 000
&5 .16
W EIEREREE E=-2YVIREEAR 1LY
2 b g - BIRTE BT o = BHO(f ® 5 W = " =
E-RYUTREE
= 1.00 36, 400. 00 36, 400
& Hi 1E%HeH 1,00 36, 400. 00 36, 400




